
Partition Numbers to 1,000,000

1a. Complete the bar models using 

standard partitioning.

1b. Complete the bar models using 

standard partitioning.

2a. Complete the part-whole models. 2b. Complete the part-whole models.

3a. Draw counters on the place value 

chart using non-standard partitioning to 

help you calculate 424,329 – 800.

3b. Draw counters on the place value 

chart using non-standard partitioning to 

help you calculate 349,249 – 70,000.
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Partition Numbers to 1,000,000

1a.     1b. 

2a.     2b. 

3a. 424,329 – 800 = 423,529   3b. 349,249 – 70,000 = 279,249
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